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Direction: In all the passages given,
some words have been deleted. Fill in
the blanks with the help of the
alternatives given. Select the most
appropriate option for each number.
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Q1. There was still a light on in Mo’s
room. He often stayed (1) reading
late into the night. Meggie had (2)
____ her love of books from him.
When she (3) refuge with him
from a bad dream, nothing could lull
(4) back to sleep better than
Mo’s calm breathing (5) her and
the sound of the pages turning.
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There was still a light on in Mo’s room. He ;
often stayed (1) reading late into the night. =
Meggie had (2)  her love of books from him.

Q.01. Choose the correct option for (1)
(a) up

(b) Away

(c) for

(d) out

Ans:(a) ‘Stay up’ is correct which means to

not go to bed at the time you would normally
go to bed.
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There was still a light on in Mo’s room. He ;
often stayed (1) reading late into the night. oy |
Meggie had (2)  her love of books from him.

Q.02. Choose the correct option for (2)
(a) procured

(b) inherited

(c) extracted

(d) gained

Ans:(b) Inherited- derived genetically
from one's parents or ancestors(of
a quality, characteristic)
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When she (3) refuge with him from a e
bad dream, nothing could lull (4) back to 5 i o )
sleep better than Mo’s calm breathing (5) ‘
her and the sound of the pages turning.

Q.03. Choose the correct option for (3)
(a) takes

(b) most taken

(c) will take

(d) took

Ans: (d) took.
The sentence is in the past tense.
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When she (3) refuge with him from a —
bad dream, nothing could lull (4) back to 5 i o )
sleep better than Mo’s calm breathing (5) ‘
her and the sound of the pages turning.

Q.04. Choose the correct option for (4)
(a) her

(b) it

(c) his

(d) them

Ans: (a) her
Possessive pronoun for ‘Maggie’ who is a girl.
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When she (3) refuge with him from a e
bad dream, nothing could lull (4) back to 5 i o )
sleep better than Mo’s calm breathing (5) ‘
her and the sound of the pages turning.

Q.05. Choose the correct option for (5)
(a) against

(b) around

(c) beside

(d) behind

Ans: (c) beside

Beside is a preposition which means "next to."
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Q2. lIronically, the dams that were
constructed to (1)  floods have
triggered floods due to sedimentation in
the reservoir. The (2)  of water from
dams during heavy rains aggravated the
flood situation (3)  Maharashtra and
Gujarat in 2006. The floods (4)  not
only life and property but also caused
soil erosion. Sedimentation (5)  the
plains of silt, a natural fertilizer.
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Ironically, the dams that were constructed to “
(1) floods have triggered floods due to BEEHAR
sedimentation in the reservoir.

Q.01. Choose the correct option for (1)
(a) dominate

(b) control

(c) reduce

(d) resist

Ans: (b) control
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The (2)  of water from dams during heavy cgas
rains aggravated the flood situation (3) ar
Maharashtra and Gujarat in 2006. 75

Q.02. Choose the correct option for (2)
(a) restraint

(b) collection

(c) release

(d) liberation

Ans: (c) release
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The (2)  of water from dams during heavy o
rains aggravated the flood situation (3) =Iak
Maharashtra and Gujarat in 2006.

Q.03. Choose the correct option for (3)
(a) through

(b) among

(c) in

(d) along

Ans: (c)in
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The floods (4)  not only life and
property but also caused soil erosion. i =Iak
Sedimentation (5)  the plains of silt, a ' ‘
natural fertilizer.

Q.04. Choose the correct option for (4)
(a) devastated

(b) devoured

(c) smashed

(d) plundered

Ans: (a) devastated
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The floods (4)  not only life and
property but also caused soil erosion.  *  =T
Sedimentation (5)  the plains of silt, a
natural fertilizer.

Q.05. Choose the correct option for (5)
(a) deprived

(b) distributed

(c) drought

(d) disabled

Ans: (a) deprived
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Q3. Portia claims that even if she (1)
to live as long as Sibylla, she
would die as (2) as Diana because
she can only be claimed (3) the
manner specified by her father’s will.
She (4) that nobody would be
able to crack (5) casket test and

sO she was bound to remain
unmarried.
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Portia claims that even if she (1) to I
live as long as Sibylla, she would die as (2) /55T
__as Diana because she can only be =P
claimed (3) ____ the manner specified by

her father’s will.

Q.01. Choose the correct option for (1)
BIE

(b)were

(c)was

CILER

Ans: (b) were
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Portia claims that even if she (1) to ¢ grman,
live as long as Sibylla, she would die as (2) 7 5550
____as Diana because she can only be Ko=)
claimed (3) __ the manner specified by her

father’s will.

Q.02. Choose the correct option for (2)
(a) real

(b) clear

(c) plain

(d) pure

Ans: (d) pure- ( wholesome and untainted by
immorality, especially that of a sexual nature.)
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Portia claims that even if she (1) to N
live as long as Sibylla, she would die as (2) [ 7250
_as Diana because she can only be \ =
claimed (3) ___ the manner specified by her

father’s will.

Q.03. Choose the correct option for (3)
(a) from

(b) through

(c) at

(d) in

Ans: (d) ‘In the manner’ is a correct phrase which
means in the style of a particular person or thing.
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She (4) that nobody would be o oEmany
able to crack (3) __ casket test HEETRA
and so she was bound to remain *
unmarried.

Q.04. Choose the correct option for (4)
(a) will worry

(b) has worry

(c) worries

(d) worry

Ans: (c) worries
Base form of the verb will be used.
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She (4) that nobody would be o oEmany
able to crack (3) __ casket test HEETRA
and so she was bound to remain
unmarried.

Q.05. Choose the correct option for (5)
(a) one

)

(c) the

(d) an

Ans: (c) the
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Q1.Select the wrongly spelt word.

) Remembrance e L
) Reminascant

) Remnant

) Remittance

Ans: (b) Correct spelling:- Reminiscent
Remembrance - memory

Reminiscent - tending to remind one of
something.

Remnant - remains, remainder
Remittance - a sum of money sent in payment or gift.
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Q2.Select the wrongly spelt word.

(a) Competence (20
(b) Consumation

(c) Chronology

(d) Compromise

Ans: (b) Correct spelling-Consummation
Competence - ability to do something
successfully or efficiently.
Consummation - the point at which
something is complete or finalized.
Chronology - arrangement of events
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Q3.Select the wrongly spelt word.

Ignorance e L
Influence
hEE

a
b
C
d) Impeach

(a)
(D)
(€)
(Q)

Ans: (c) Correct spelling :-Itinerant
ltinerant - travelling from place to place.
Impeach - (especially in the US) charge

(the holder of a public office) with
misconduct.
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Q4.Select the wrongly spelt word.

Dilemma l_l_y
Athelete
Guarantee

a
b
C
d) Convenience

(a)
(b)
(c)
(d)
Ans: (b) Correct spelling:-Athlete

Dilemma - a difficult situation or problem.

Convenience - the state of being able to

proceed with something without
difficulty.
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Q5.Select the wrongly spelt word.

a) Miscellaneous (SEpY
b) Umbilical

c) Prophecy

d) Accomodation

(
(
(
(
Ans: (d) Correct spelling:-Accommodation
Miscellaneous - of various types

Umbilical - relating to or affecting the
navel or umbilical cord.

Prophesy - say that (a specified thing)

will happen in the future.
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Q6.Select the wrongly spelt word.

a) Aesthetic Dy
b) Equivocal

c) Catastrophy

d) Ingenious

Ans: (c) Correct spelling :-Catastrophe

Aesthetic - concerned with beauty

Equivocal - open to more than one

interpretation; ambiguous.

Catastrophe - an event causing great, sudden damage
or suffering; a disaster.

Ingenious - (of a person) clever, original, and inventive.

(
(
(
(
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Q7.Select the wrongly spelt word.

(a) Exhilaration (el
(b) Idiosyncracy

(c) Recalcitrant

(d) Conscientious

Ans: (b) Correct spelling:- Idiosyncrasy
Exhilaration - a feeling of excitement, happiness.
ldiosyncrasy - a mode of behaviour or

way of thought peculiar to an individual.
Recalcitrant — a person with an obstinately
uncooperative attitude.

Conscientious - wishing to do one's work well and thoroughly.
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Q8. Select the wrongly spelt word.

) Souvenir o'W 1
) Paltry

) Thwart

) Afliction

Ans: (d) Correct spelling:Affliction

Souvenir - a thing that is kept as a

reminder of a person, place, or event.

Paltry - (of an amount) very small or meagre.
Thwart - prevent (someone) from
accomplishing something.

Affliction - a cause of pain or harm.

(a
(b
(C
(d
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Q9. Select the correctly spelt word.

(a) Benigne

(b) Bennine

(c) Benine

(d) Benign

Ans: (d) Correct spelling :-Benign
Benign - kind, friendly
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Q10. Select the correctly spelt word.

(a) Guarantee
(b) Genaral
(c) Gragarious
(d) Garbege

Ans: (a) Correct spelling:-Guarantee

Correct spellings are:-General, Gregarious, Garbage
Gregarious - (of a person) fond of

company; sociable.

Garbage - rubbish or waste, especially
domestic refuse.




KISSION SELECTION SSC 2

SENTENCE REARRANGEMENT

A. It has been a leading producer of both industrial Home Work

and agricultural goods.

B. The United States of America holds a dominant
position in the world because of its high economic
development.

C. Because of its enormous output, the United States
has a major share in world trade.

D. It is also a leader in the development and
application of innovative technology.






